D.3.2. - Podélny Fez tunelu SNV 1 :100

VYREZ 4
VYRON VODY 2 x VYRON VODY
40 39 38 37 36 35 34 33 32 31
B 4,03m » 4,38 m B 4,04 m B 4,14 m B 4,32m B 4,04 m B 411m » 4,34m B 4,07m »
1 1 1 1 1 1 1 1 1 1
OQ D D DA O OQ OQ Q OQ OQ
VYREZ 5
oDY VYRON VODY VYRON VODY
OPRAVA DESKY STROPU
49 48 a7 46 45 44 43 42 41 40
B 4,04 m B 4,57 m » 3,98m B 4,05 m B 4,40 m B 3,97m B 4,14 m P 4,35m B 4,08 m B
1 1 1 1 1 1 / 1 1 1 1
»\& \\\ \\% N 7 1/ \.\' \\‘ \\1 \\X \\1 \\&
OCELOVE SCHODISTE
VYREZ 6
VYRON VODY
57 56 55 54 53 52 51 50 49
L 4,83m B 4,18 m B 4,18 m B 4,35m » 4,18 m » 4,18 m » 4,35m » 4,05m »
1 1 1 1 1 1 1 1 1




